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Sixth Semester B.E. Degree Exg_)m'inaﬁon, June/July 2018
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Time: 3 hrs. Max. Marks: 80

§ Note: Answer any FIVE full qu;e.sf, 0 ,Vchoosing one full question from each module.
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£ el " Module-1

é’ 1 a. Whatis the need of a elutch? What are the requirements of good clutch? (08 Marks)

2 b. With a neat sketch,ﬁxﬁ}gfﬁ the construction and working principle as a centrifugal clutch.
5 N (08 Marks)
3 ng //‘f);) _
3 N OR
53 2 a. What a}/{eﬁﬁx\" ":‘vérious clutch facing materials? (03 Marks)
- b. List tl{é\lg%r'non clutch troubles. Explain their causes and remedies. (07Marks)
£ %5

B % S@}ﬁfensmns of the clutch plate and the axial force provided by the springs. The maxi/q%&
£ allowable pressure intensity for the clutch facings is 100kPa and coefficient of friction i&@)ﬁd
¢ ¢ Assume uniform wear. ) (gﬁﬁl@%s)
¢ Module-2 N ~
5 With a neat sketch, explain the construction and working principle of a ﬂungQS?Wheel.
WG NSNS
b : . . . oy (08 Marks)
5 b. What is the necessity of over running clutch? With a neat sketg\lfx'\féx;plaln the working
B principle of cam and roller type over running clutch., oA\ (08 Marks)
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£ 4 a. With a neat sketch, explain the construction and workingfﬁr}@é?ple of a single stage torque
converter. L w7 (10 Marks)
b.  Explain any two methods used to increase the eﬁicic;q‘b}_g)f a torque converter. (06 Marks)
Q&
Module-3:' *
S a. Explain the following terms in detail: i) A@éi@;ﬁﬁon i) Gradeability iii) Drawbar pull.
N (09 Marks)

b. The coefficient of rolling resistance ff\ggxl?ﬁ’jtruck weighing 62293.5N is 0.018 and the
coefficient of air resistance ig\}fﬁg{f)ﬂ@ in the formula R=KW+K,AV? N. The

{ transmission efficiency in top‘\g@fﬁfo‘f{ 6.2:1 is 90% and that in the second gear of 15:1 is
: 80%. The frontal area is 5.574m>>If the truck has to have a maximum speed of 88 km/hr in
top gear, calculate, (\L\\I o

i) The engine BP requjréd:

i)  The engine spéqgi\.'{}fthe driving wheels have an effective diameter of 0.8125m.

S\

iii) The maxil‘mi ?ﬁéﬂi’de the truck can negotiate at the above engine speed in second gear.

Important Note : 1. On completing your answers, com
S N P

iv)  The m&xiiﬁﬁ%ﬁ'drawbar pull available on level at the above engine speed in second
gear,}": ”&..._9} (07 Marks)
N\l
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6 a. With a neat sketch, explain the construction agdg?)\&%ﬁing principle of a constant mesh geat
box. N2 (08 Marks)
b. A four speed gear box is to be constructed fok pri yviding the ratios of 1.0, 1.46,2.28 and 3.93
to 1 as nearly as possible. The diamct(\ “pitch of each gear is 3.25mm and the smallest
pinion is to have at least 15 teeth. QQ : ine the suitable number of teeth of the different
gears. What is the distance between ‘ﬂi_é;:fﬁain and layout shaft? (08 Marks)
_ \"Module-4

7 a. Explain the principle of Qpéjl:g‘fibn of a planetary transmission system with a neat sketch.
AN (08 Marks;
b. Explain the working:principle of a Wilson planetary transmission system with a neat sketch
NN (08 Marks:
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8 a. What is\Q\ﬁf\}:‘w Explain the construction and working of an overdrive with a neat sketch
BN (10 Marks
b. The ir\if\g\}l\t}shaﬁ of an epicyclic type of gear box has two sun wheels each with 25 teet!
gﬁﬁ:}icd’to the shaft. Their corresponding annuli have 100 teeth each. The output shaft has :
<\‘f@%iilglf%r‘tunning free on that shaft with 40 teeth, while the corresponding annulus has 80 teeth
«\:\t}:@alcula’ce the first, second and reverse gear ratios. (06 Marks
A - Module-5 G5e

s AT Module-> N
. &ﬁ@ ¥ a. With a neat sketch, explain the working principle of variable displacetzg’géﬁ;}imp an«
;\% constant displacement motor type hydrostatic drive. £ C) (08 Marks
«é\?\ﬁ/ b. What are the limitations and advantages of hydrostatic drives? \g{ > (08 Marks
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10 a. With a neat sketch, explain the working principle of Borge-W@”d{iﬁ%}ﬁ tomatic transmissio
system. (\f\\\\:l (08 Mark: :
b. Describe the working principle of hydromatic transmissio;}yugsygt’iz\r‘n with a neat sketch.
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